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Sneha Dey 18 hours ago

Anss 61 Nice session sir

Thank you so much sir for this energetic session ., Thank you &

Aap se padhke energy aa jata h sab easy Igta hai.. Thank you sir.. Best teacher.. @ Homework answer: option C (61)

Sir D. I. Mein bohut prblm hota hai bohut darr Igta h ek session uska v laiyiye jaldi.. Pattern; *0.5+0.5, *1+1, *1.5+1.5,*242 ,*2.5+2.5

Niharika Jha 19 hours ago

Simran Chauhan 16 hours ago

Homework answer is 61 .. it should be 60

Pattern is x0.5+0.5 x1+1. x1.5+1.5......

Thank you so much sir... Aaj k questions new th but kaafi ache th . Nd ho b the th bs speed ki requirement hai.. vo b aa
jygu practice k sth ...

Rajat Sahu 9 hours ago
The session is Awesome sir
Hwo Ans =61

Thank you so much for this amazing session

] . Sagar Paul 19 hours ago
Atigya Garg 16 hours 200 Thank you sir for this awesome session
Apka samjhane ka tarika bohat help karta he problem solving me thank you sir & &
Homework' s answer is 61

Thank you sir = =

Thank you sir ji
Hw ansis: 61

s
-

Mahek Tandon 19 hours ago
Answeris 61.

Sir bhut Acha Igta h aapki class mein kuki itne full energy ke saath aapko padhate dekhte h toh aur bhi jyada confidence
aata h thankuu soo much sir &=

Tanisha p 19 hours ago

Thank you sir gy o's s

Awesome session with new logic thank you sir
HW-—— 61

opt CCC




Arpita Chakraborty 10 hours ago

Homework Ans: C.61(multiply and addition same hoga)

Aajka class bohot achhe hai Sir..Aapko kuch bole bina nehi rahe sakte maine &2 ... mathematics mai dhire dhire increase
hone laga..

Thank You so much Sir Ja aa

¢ PUJA KUNDU S 21 hours ago

The ans is 61 ;;;; ;60 is the correct ans in place of 61.....logic....(x0.5
+0.5...x1+1...x1.5+1.5...x2+2. . x2 5+2.5...x3+3)...superb session sir and thank you J, &

Twinklr Gupta 14 hours ago Mohit.. 19 hou
ANs is. 61 o <
MNice session sir

rs ago

Thank-you Sir for this Amazing Class Session of today.. ., =
And

oL GH REPLY My Answer for today’'s Homework is-

Option C== 61.

As,

60 in place of 61.

Anupam Gujar 19 hours ago 700

Answer:- 61 Thank-you So Much, Sir Ji..

gL oo REPLY

- (7=) « 1 REPLY

- E"““ » 1 REPLY Surbhi Sinha 19 hours ago

Kajal Singhal 21 hours ago
Answer 61

5 GI  REPLY
v (=) . 1 REPLY

Rimpa Das 21 hours ago
C61.

oy GH REPLY

v (=) . 1 REPLY

Jethalal 16 hours ago
67

oy GH REPLY

v (=) . 1 REPLY

laxmipriya das 21 hours ago
61

Hw. 61,61,61,61 #2 #3 bahut acha Iga rha sir new logic o new question k saath LGa ki aab confidence araha h

Shefali Thakur 21 hours ago ¢4 ¢
Answer :
61

N



T, 18, ©, 232,1165




Find the approximate value of ?

24.997% of 639.998 + 1.996* = ?

=0 A.580

SEmal

V) B.720
C.640

D.724
E.560




The sum of Ajay’s and Vijay’s age is 40 years. 10 years later the ratio @
of their ages will be 5 : 7 respectively. What was the ratio of their

ages 10 years before?
AT AR TSI BT AT T AN 40 Y Bl 10 TN 1S ITchT AT HT ATATA SHA:
5: 7 BRI 10 ¥ UES IchT ST ST ATUTA T AT?

mo O >
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6x>+ 19x —77=0

Oy* — 48y + 64 =0




Find the approximate value of ? @

14.99% of 399.987 + 24.99% ot 1240.001 x 0.2 =0.2 x ?




3, 4,12, 2, 196




Anil gave 60% of his salary to his wife and invested rest amount in @\
mutual fund. His wife spend 30% amount on grocery and 20% on rent.
From remaining amount she purchased gold worth Rs. 18000. Find the
salary of Anil ?

S T STUT FET T 60% AT U ohl 1T I ATHT ThE TAAA 6 H
Aot 6Tl STehT TeT TeRtT IR 30% TT9T ST TeRTT OR 20% TTT9T @ Shidt 81 IS
9T & 3T 18000 TN HT FIHT WRIET| AT Rt I JT hITeTa?

A. 60000
B. 64000
C. 58000
D. 66000
E. 54000

il
—




x*—13v/3x + 108 =0

y* —11v/3y + 90 =0




Find the approximate value of ? @

50.01% + 19.999% + ? = 50.998>

7 '_l\ - A.—363
20 ) 299
C.363

DIWASE
E.— 489




There is 80% increase in an amount in 8 years at simple interest. What &
will be the compound interest on Rs. 15,000 after 3 years at the same rate

of interest?

FTRUT ST X § T H Tehs AT H 80% hY Aleg BT 51 THTT SATH X W 3
Tt ok A1 15,000 TTX TR AhATeg, SATS FIAT T2

s A.Rs. 4,575
+ =2 ) B. Rs. 5,000

2
g C. Rs. 4,550
;2’“ D. Rs. 4,695

R E. Rs. 4,965

il




7x° +V7x —20=0

Ty* — 10v7y +21 =0




4, 125, 269, 438, ?, 859




P can complete a work in 20 days. After Worklng S days, P left the work @\
and Q complete the rest in 12 days. In how many days will P and Q

together complete the task ?

P Ueh Sh1dl ST 20 AT 3 U1 S WehaT Bl 5 1o Tl 6 o 911G, P 1d SIS ST 8
3R Q W T AT 12 ToHT o o7 &zt 71 P 3R Q THeteRt &vrel i ok fomt W aw
HAT?




Find the approximate value of ?

\V728.991+1/9.003% 7.999 + 4.992 = ?

AWAS
B.77
C.97
D.198
Y




2x° —10x+12=0

2y 19y E35="0




The ratio of speed of boat in still water to speed of stream is 8 : 1. It take é\
4 hours by boat to cover 54 Km in downstream and 42 km in upstream.

Find the downstream speed of boat ?
TROR ST § AT <R T1Ter 311X & <hT 7Tl ohT ST7UTd 8: 1 §1 &1 3 TTher 54 Tomwt
AR T o ener 42 Toret it 0 7 ot § 19 G0 4 ©¢ A 5| 7T ht &

o SR T T ShIToTa? |

l\

B. 24 Kmph
C. 22 Kmph
D. 20 Kmph
E. 27 Kmph

X A. 25 Kmph
;




iy S8 220 P 3643

o A895
(& hone

C.912
D.915
E.NOT




There are 43800 students in four schools of a city. If half of the first is @\
equal to the 2/3 of second is equal to the 3/4 of third is equal to the 4/5 of
fourth. Then find the number of student in school second?

Teh ITe{ o O Tehell W 43800 ST &) Ale TgeiT ShT HATET, TAY o 2/3 oh SR g,
Y o 3/4 o STER 8, <Y o 4/5 oF STER 81 AT GO Tohel § BT shi W&dAT ATq

A. 10800
B.12420
C.13380
D.14470
E.NOT




Find the approximate value of ?

148.003 — 323.987 ~-26.991 = 0.5 x ?

70y A136
-N B.98
C.212

D.428
E.272




Ox° —26x +16=0

3y — 16y +20=0




120, 15, 105, 17.5, 87.5, ?

— >A 18.5
N ’)>B .19.5

C.21.875
D.17.5
E.90




A container contains some milk. If 16 liter of milk is taken out and
replaced with water. If this process is repeated three times more then the
ratio of milk and water become 16:63. then find the initial quantity of
milk?

Ueh et § o 39 7| AfS 16 TieX 38 i fHerter st urt & wae faam sy afy
39 TTSHAT ST A1 AT Afereh SIETET ATY a7 587 SfX ITH1 ST SATUATA 16:65 B SATAT
HEIECEIR IR E R EIRIEAIE Y

2=



Time taken to travel certain distance of 'X' km at speed of 40 km/h is 2 @\
hours more than the time taken to travel (x + 20)km at a speed of 60 |

km/h. Find the time taken to travel (x + 40)Km at the speed of 40 Km/h ?
40 Tertit/eiet <1 Tid & X" Teret <ht Figra gt oo o W fora warm @ 60
feret/eeT < i | (x + 20)feRHT hY ATAT FE W A AT THA W 2 S 37T 2
40 TerHi/EreT it T T (x + 40)eRHT it ITAT HIA W ToTIT T AU AT RIS ?

A. 8hours
\ B. 6 hours
\> C. 7.5 hours |
D. 4 hours
E. 5 hours




